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Find x, y, and z when O is the circumcenter in AABC.
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isosceles triangle
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isosceles triangle
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The sum of the interior angles
of a triangle is 180 degrees.

1204+ 2z + 2Lz =780

2Lz =60

AABC IZB T, OGO L, xy %k &,

Find x, y when O is the circumcenter in AABC.
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Draw an auxiliary line OA
Z/OAB = ZOBA
Z0AC = ZOCA
ZOBA+ Z0CA = ZBAC
(Ly+40 )+ (Ly+207)
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3. AMABCIZEWT, IXAANLDOE X, x,y, 2z %KD L,
Find x, y, and z when I is the innner center in AABC.
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BD = x, CD =y, AF = z
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Find the size x of BD when I is the innner center in AABC.
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BD = x, CD—y,AF—z
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Ilustrate the center of gravity G of the following triangle.
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Find x, y, and z when G is the center of gravity in AABC.
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Ilustrate the center of gravity G of the following triangle.
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Find x, y, and z when G is the center of gravity in AABC.
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